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100000008860

Ryan paid $8.20 for stamps. Each stamp cost $0.41. What was the
total number of stamps he purchased?
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Grade 7 Math CID 100000008860

ltem # 4 7N.3.a OP10
Type Max Points Correct Answer N Count Item Mean Discrimination
Multiple Choice 1 B 6399 0.800 0.410
A B C D Omit | Invalid
All 8 80 7 4 0 0 MC ltem Option Discriminations
Low Scorers 19 52 17 12 0 0 A B C D
Middle Scorers 6 85 6 3 0 0 -0.234 0.410 -0.210 -0.218
High Scorers 2 96 2 1 0 0
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Non SPED students may perform better on this item as compared to SPED students. (B)
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3340100

What is the measure in degrees of one of the interior angles of
a rectangle?

60°
B. 90°
C. 180°
D. 360°
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Grade 7 Math CID 3340100

Item # 21 7G.1.b OP10
Type Max Points Correct Answer N Count Item Mean Discrimination
Multiple Choice 1 B 6399 0.810 0.304
A B C D Omit | Invalid
All 9 81 6 4 0 0 MC ltem Option Discriminations
Low Scorers 17 61 15 7 0 0 A B C D
Middle Scorers 9 83 5 3 0 0 -0.175 0.304 -0.202 -0.104
High Scorers 2 95 1 2 0 0
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100000008878

The pronghorn antelope can weigh as much as 63 kilograms.
What number of grams is equivalent to 63 kilograms?

A. 630 g
B 6,300 g
C. 63,0009
D. 630,000 g
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Grade 7 Math CID 100000008878

Item # 41 7M.1.a OP10
Type Max Points Correct Answer N Count Item Mean Discrimination
Multiple Choice 1 C 6399 0.380 0.339
A B C D Omit | Invalid
All 30 27 38 4 0 0 MC ltem Option Discriminations
Low Scorers 47 31 17 5 0 0 A B C D
Middle Scorers 33 29 33 5 0 0 -0.261 -0.080 0.339 -0.038
High Scorers 11 18 68 3 0 0
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The table below shows a company’s income and its expenses for
each quarter of the year.

Quarterly Report

Quarter Company Income Company Expense
(in thousands of dollars) | (in thousands of dollars)

First 68 39

Second 105 90

Third 76 78

Fourth 130 80

Which graph accurately compares the income and expenses for the
four quarters?
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100000008930

C QUARTERLY REPORT
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Grade 7 Math CID 100000008930

Item # 58 7D.1.b OP10
Type Max Points Correct Answer N Count Item Mean Discrimination
Multiple Choice 1 B 6399 0.660 0.410
A B C D Omit | Invalid
All 7 66 19 8 0 0 MC ltem Option Discriminations
Low Scorers 13 85 32 20 0 0 A B C D
Middle Scorers 7 66 20 7 0 0 -0.151 0.410 -0.228 -0.239
High Scorers 2 90 6 1 0 0
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100000102541

Jasper completed the input-output table below.

b

a|dP|lwWIN|=
(ool RN e )N O, [ I N I

Part A. Write an expression that completes the rule for this
table. Write your answer in the space provided.

Part B. Use the rule you found in Part A to find the value of y
when x = 9. Write your answer in the space provided.

When x =9,y =
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Grade 7 Math CID 100000102541
Iltem # 66 7A.2.b OP10
Type Max Points N Count ltem Mean Discrimination
SR 2 6399 1.170 0.562
0 1 2 Omit Invalid
All 28 26 46 1 0
Low Scorers 67 23 9 2 0
Middle Scorers 24 32 44 1 0
High Scorers 3 16 80 0 0
T00 |
9 1
80
70 1
c 60 1
8
5 s0 |
3
o 40 1
30 1
20 1
10 7
0 1
Al Mid

Group

Notes:
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Session 2 Mathematics (Calculator) /2

3 Jasper completed the input-output table below.

Ui [W N |
DiN || |dH

Part A. Write an expression that completes the rule for this
table. Write your answer in the space provided.

Part B. Use the rule you found in Part A to find the value of y
when x = 9. Write your answer in the space provided.

When x =9,y = _\L

Stop. Do not go on
to the next page.
Page 15
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Score Point 2

The response is complete and accurate. The student provides a correct expression
that completes the rule for the given table (3 + x) and the correct value for y
when x =9 (12). No supporting work is required for this item to receive full
credit.

Booklet: 11090800670
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Session 2 Mathematics (Calculator) A

3 Jasper completed the input-output table below.

X y
1 4
2 5
3 6
4 7
5 8

Part A. Write an expression that completes the rule for this
table. Write your answer in the space provided.

y = X+3

Part B. Use the rule you found in Part A to find the value of y
when x = 9. Write your answer in the space provided.

.
K

-When x =9,y = ’:!’3

Stop. Do not go on @
to the next page.
Page 15 pag
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Score Point 1

This response is inaccurate. The student successfully writes an expression
that completes the rule for the table (x + 3). However, the work supplied in
part B (9 + 4 = 13) shows that the student does not use the rule from part A
to solve for y when x = 9. The result is an incorrect answer in part B (13).

Booklet: 11068900056
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Session 2 Mathematics (Calculator) =3

3 Jasper completed the input-output table below.

x y
1 4
2 5
3 6
4 7
5 8

Part A. Write an expression that completes the rule for this
table. Write your answer in the space provided.

Part B. Use the rule you found in Part A to find the value of y
when x = 9. Write your answer in the space provided.
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When x =9,y = \\’\

Stop. Do not go on
to the next page.
Page 15
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Score Point 0

The response shows no understanding of how to successfully complete the task. In part A, the
student does not provide an expression that completes the rule for the table. Instead, the response
contains a word phrase (4'S and 5'S) that cannot be mathematically evaluated. In part B, the
student provides a value for y when x =9 (74), but this is neither the correct value, nor can this
value be reached using the “rule” established in part A. This response receives no credit.

Booklet: 11091800124
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